Aastha Trust and IHF Education Program





About Aastha Trust

Aastha is a non-profitable organization, with a mission to elevate the living conditions of the vulnerable people in our society. Aastha Trust aims to assist seniors who are abandoned by their loved ones and help slum children, orphans, and children with rare disabilities. They take proper steps to provide them skill-development and training, which in turn provides them a respectable way of living. Aastha Trust gives special attention to girls and women, as well as education for both boys and girls. We believe that empowering people to earn their own means of living provides them an opportunity to evolve as a better citizen. It increases their awareness on a range of issues - from healthcare and appropriate social behavior to understanding one's rights.

It's Humanity Foundation (IHF) Education Program:

IHF Education Program is the embodiment of the main goal of It's Humanity Foundation (IHF) and is the spearhead of all of IHF's Operations as it paves the way to a brighter Bangladesh by providing access to quality education for disadvantaged children of Bangladesh. From March 2020 during COVID-19 students, their parents, and educators around the world are feeling the extraordinary ripple effect of the novel coronavirus as schools are shutting down and quarantine methods are being ordered to cope with the global pandemic. To cope with the gap of continuing the education to students, IHF started a project titled 'Home School' which has been launched on June 23rd, 2020 at all IHF school campuses along with our special school project ALOK.

Pathdan

[Aastha Trust & IHF School Bansbari Campus]:

Pathdan is situated at Syedpur of Nilphamari District where another project of Aastha Trust & IHF Education Program started from 2022. There was a school previously but during the Covid pandemic the school process had been permanently on hold due to lack of enough financial and resource facilities. Aastha Trust & It's Humanity Foundation (IHF) take an initiative to rebuild a school operation titled Pathdan.

Inaugurated On: 2022

Address: Bansbari, Syedpur

Details of 2022:

Number of Students	80
Number of Teachers	4
Class Range	Play group - Two

Unit Name	Total Unit	Total Expense (Monthly) BDT	Total Expense (Yearly) BDT	Remarks
Rent	12	9000	108,000	6 months Security Money
Utilities	12	900	10,800	
Internet	12	700	8,400	
Admin & Logistics	12	2500	30,000	
In Charge	13	12,000	156,000	
Teacher-1 Salary	13	3,000	39,000	
Teacher-2 Salary	13	3000	39,000	
Teacher-3 Salary	13	2,000	26,000	
School Assistant	13	1,000	13,000	
Tiffin	80	28800	345,600	BDT 15, 1 day for 1 student
Total			775,800	











Aastha Trust & IHF School, Tobolpur Campus

Aastha Trust & IHF School Tobolpur campus started with 100 students in 2021. There was a school before the Covid pandemic; the school process was not able to continue due to lack of resources. After knowing the situation Aastha Trust & IHF took the initiative to start another Aastha Trust & IHF school project at Tobolpur.

Inaugurated On: 2021

Address: Tobolpur, Sylhet

Number of Students	127
Number of Teachers	5
Class Range	Play to Five

Unit Name	Total Unit	Total Expense (Monthly) BDT	Total Expense (Yearly) BDT	Remarks
Utilities	12	900	10,800	
Internet	12	700	8,400	
Admin & Logistics	12	2500	30,000	
In-charge Salary	13	12000	156,000	
Teacher-1 Salary	13	5,000	65,000	
Teacher-2 Salary	13	5,000	65,000	
Teacher-3 Salary	13	5,000	65,000	
Teacher-4 Salary	13	5,000	65,000	
School Assistant	13	2000	26,000	
Tiffin	127	45720	548,640	BDT 15, 1 day for each student
Total	1,039,840			







Aastha Trust & IHF School, Kolcondo Campus

Kolcondo is a Char area situated at Kolcondo union. Aastha Trust & It's Humanity Foundation (IHF) started a primary school project in this area from 2022 with the community children of the nearest area.

Inaugurated On: 2022

Address: Chilakhal (Soker Bazar) Ward No - 1, Kolcondo, Gangachara, Rangpur

Number of Students	108
Number of Teachers	5
Class Range	Play group - Two

Unit Name	Total Unit	Total Expense (Monthly) BDT	Total Expense (Yearly) BDT	Remarks
Utilities	12	900	10,800	
Admin & Logistics	12	2500	30,000	
School In- charge Salary	13	10,000	130,000	
Admin Salary	13	8000	1,04,000	
Teacher-1 Salary	13	4,000	52,000	
Teacher-2 Salary	13	4,000	52,000	
Teacher-3 Salary	13	4,000	52,000	
School Assistant	13	2000	52,000	
Tiffin	108	38880	466,560	BDT 15, 1 day for each student
Total			845,360	









Education for Orphanage

In 2022, in an Orphanage at Rangpur, we initiated to provide monthly meal and enrolling to nearest school for formal education to those orphanage children. So that in addition to Madrasah education, they get the nutritious food and get self-education through academic education.

Inaugurated On: 2022

Address: Muchir Hat, Bodorgonj Rangpur

Number of Students: 29

Number of Students	Unit Rate	Total (Monthly)	Total (Yearly)
29	1500	43500	522000



Hatey Khori

by Aastha Trust & IHF

Hatey Khori is a project under the Aastha Trust & IHF Education Program where Aastha Trust and Its Humanity Foundation (IHF) jointly provide the opportunity for some training to transform youth into manpower who are from marginalized community which will help them to make their future sustainable through earn their livelihood.

As a part of this initiative, in 2022, 47 youths were included in the training under 4 training programs in Syedpur.

Inaugurated On: 2022

Address: Muchir Hat, Bodorgonj Rangpur

Number of Students: 47

SL	Course Name	Course Fee	Number of	Total Fee
)SL	Course Name	in BDT	Students	in BDT
1	Driving Cum Auto Mechanics Course	8350	16	133600
2	Refrigeration and Air Conditioning	7350	10	73500
3	Welding and Fabrication	7350	10	73500
4	Computer Application and Graphics	2025	11	22275
			Total	302875









